

Universal Super Filter Tips

THE UNBREACHABLE BARRIER FOR

LIQUID AEROSOLS

Features

- Manufactured from pure USP class VI certified virgin polypropylene free from natural rubber and inhibitory plasticizers
- Universal fit- designed to fit all common pipettes including multi-channel pipettes
- Clear tips for ultra clear results thereby ensuring great sample visibility
- ✓ Diamond polished smooth surfaces minimise liquid sample retention
- Easy to read graduation Allows quick volume checks
- Proprietary inert hydrophobic PE filter to prevent cross contamination and acts as a barrier to liquid aerosol

Your Research... Our Quality

Bulk

- Easy to open and re-seal and pouches are recyclable
- Fully autoclavable
- Available in non-sterile



Individually Wrapped

- · Fully automated blister packaging
- Gamma irradiated with SAL 10⁻⁶
- Complete traceability with mention of product code, lot number and expiry date



Racked Tip Box

- Available sterile and non-sterile
- Color coded rack inserts for quick volume identification
- Design patented generation 2 tip box for stability
- Full traceability



Quality & Compliance



FREE



LEAK TEST



FREE



FREE













Product Code	Product Description	No. per cas
P11001	Filter Micro Tips, PP, 0.2 - 10 μl (Natural) (Graduated), Bulk Natural	1000
P11002	Filter Micro Tips, PP, 0.2 - 10 μl Extended (Natural) (Graduated), Bulk Natural	1000
P11003	Filter Micro Tips, PP, 2-20 μl (Natural) (Bevelled Graduated), Bulk Natural	1000
P11004	Filter Micro Tips, PP, 2-100 μl (Natural) (Bevelled Graduated), Bulk Natural	1000
P11005	Filter Micro Tips, PP, 2-200 μl (Natural) (Bevelled Graduated), Bulk Natural	1000
P11006	Filter Micro Tips, PP, 2-300 μl (Natural) (Graduated), Bulk Natural	1000
P11007	Filter Micro Tips, PP, 100-1000 μl (Natural), Bulk Natural	500
P11015	Filter Pipette Tips, 100 - 1000 XL (Extended), Natural	500
P11016	Filter Pipette Tips, 100 – 1250 μl Natural	500
P11017	Filter Pipette Tips, 100 - 5000 μl (Graduated), Natural	100
P11018	Filter Pipette Tips, 500 - 10000 μl (Graduated) Natural	100
P11008	Filter Pipette Tips, Individually Wrapped 10 μl, Natural	350
P11009	Filter Pipette Tips, Individually Wrapped, 10 μl Extended, Natural	350
P11010	Filter Pipette Tips, Individually Wrapped, 20 μl, Natural	350
P11011	Filter Pipette Tips, Individually Wrapped, 100 μl, Natural	350
P11012	Filter Pipette Tips, Individually Wrapped, 200 μl , Natural	350
P11013	Filter Pipette Tips, Individually Wrapped, 300 μl, Natural	350
P11014	Filter Pipette Tips, Individually Wrapped, 1000 μl , Natural	350
P11019	Filter Pipette Tips, 1000 μl (XL) Natural	100
P11049	Filter Pipette Tips, Individually Wrapped,1250 μl, Natural	100
P10099	Filter Pipette Tips, Individually Wrapped, 5000 μl , Natural	60
P10100	Filter Pipette Tips, Individually Wrapped,10000 μl, Natural	50
P11020	Racked Filter Micro Tips, 0.2-10 μl (Natural) Natural, (10 Racks X 96 Pcs)	960
P11022	Racked Filter Micro Tips, 0.2-10 µl Extended (Natural) Natural, (10 Racks X 96 Pcs)	960
P11024	Racked Filter Micro Tips, 2-20 µl (Natural) (Bevelled Gradated) Natural, (10 Racks X 96 Pcs)	960
P11026	Racked Filter Micro Tips, 2-50 µl (Natural) (Bevelled Gradated) Natural, (10 Racks X 96 Pcs)	960

P11028	Racked Filter Micro Tips, 2-100 μl (Natural) (Bevelled Gradated) Natural, (10 Racks X 96 Pcs)	960
P11032	Racked Filter Micro Tips, 2-200 μl (Natural) (Bevelled Gradated) Natural, (10 Racks X 96 Pcs)	960
P11034	Racked Filter Micro Tips, 2-300 μl (Natural) (Gradated) Natural, (10 Racks X 96 Pcs)	960
P11036	Racked Filter Micro Tips, 100-1000 μl (Natural) Natural, (10 Racks X 96 Pcs)	960
P11038	Filter Pipette Tips, 100 - 1000 XL (Extended) Natural, Racked, (10 Racks X 96 Pcs)	960
P11039	Filter Pipette Tips, 100 - 1250 XL (Extended) Natural, Racked, (10 Racks X 96 Pcs)	960
P11030	Filter Pipette Tips, 100 -5000 Natural, Racked, (6 Rack x24 Tips)	960
P11031	Filter Pipette Tips, 500 - 10000 Natural, Racked, (6 Rack x24 Tips)	144
P11021	Racked Filter Micro Tips, 0.2-10 µl (Natural), Sterile (Gama Radiation) Natural, (10 Racks X 96 Pcs)	960
P11023	Racked Filter Micro Tips, 0.2-10 µl Extended (Natural), Sterile (Gama Radiation) Natural (10 Racks X 96 Pcs)	960
P11025	Racked Filter Micro Tips, 2-20 µl (Natural), Sterile (Bevelled Gradated) (Gama Radiation) Natural, (10 Racks X 96 Pcs)	960
P11027	Racked Filter Micro Tips, 2-50 µl (Natural), Sterile (Bevelled Gradated) (Gama Radiation) Natural, (10 Racks X 96 Pcs)	960
P11029	Racked Filter Micro Tips, 2-100 μl (Natural), Sterile (Bevelled Gradated) (Gama Radiation) Natural, (10 Racks X 96 Pcs)	960
P11033	Racked Filter Micro Tips, 2-200 μl (Natural), Sterile (Bevelled Gradated) (Gama Radiation) Natural, (10 Racks X 96 Pcs)	960
P11035	Racked Filter Micro Tips, 2-300 μl (Natural), Sterile (Gradated) (Gama Radiation Natural, (10 Racks X 96 Pcs)	960
P11037	Racked Filter Micro Tips, 100 -1000 μl (Natural), Sterile (Gama Radiation) Natural, (10 Racks X 96 Pcs)	960
P11047	Racked Filter Pipette Tips, 100 - 1000 XL (Extended), Sterile (Gama Radiation) Natural, (10 Racks X 96 Pcs)	960
P11048	Racked Filter Pipette Tips, 100 - 1250, Sterile (Gama Radiation) Natural (10 Racks X 96 Pcs)	960
P10172	Racked Filter Pipette Tips, 100 - 5000, Sterile (Gama Radiation) Natural (6 Racks X 24 Pcs)	144
P10173	Racked Filter Pipette Tips, 500 - 10000 μl, Sterile (Gama Radiation) Natural (6 Racks X 24 Pcs)	144

What Abdos Life Sciences stands for?













Precision

Reliability

Responsiveness

Innovation

Sustainability

Relationships

Get in touch with us:





